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1. Which of the following sequences are arithmetic? For those that are
give a formula for the general (nth) term.

(a) 2,7,11,14, . . .

(b) 2,7,12,17, . . .

(c) 2,-5,-12,-19, . . .

(d) 1,-1,2,-2, . . .

Ans. (b) and (c) are arithmetic sequences since consecutive terms
differ by the same constant. For (b) an = 2 + 5(n− 1) = 5n− 3
and for (c) an = 2 + (n− 1)(−7) = 9− 7n

2. Which of the following sequences are geometric? For those that are
give a formula for the general (nth) term.

(a) 4,12,36,108, . . .

(b) 2,-4,8,-16, . . .

(c) 4,1,14 ,18 , . . .

Ans. (a) and (b) are geometric sequences and (c) is NOT.
For (a) an = 4 · 3n−1 and for (b) an = 2(−2)n−1

3. A sequence an can be defined by a recurrence relation, which gives
an in terms of the previous term , an−1, and the first term a1. Find
the first four terms of the following sequences and a formula for the
general term.

(a) an = 2an−1 ; a1 = 3

(b) an = an−1 + 5; a1 = 2

(c) an = −an−1; a1 = 3
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Ans. (a) Sequence: 3,6,12,24,48, . . .
⇒ geometric sequence with common ratio 2.
⇒ an = 3 · 2n−1

(b) Sequence: 2,7,12,17, . . .
⇒ arithmetic sequence with common difference 5.
⇒ an = 2 + (n− 1)5 = 5n− 3
(c) Sequence: 3,-3,3,-3, . . .
⇒ geometric sequence with common ratio -1.
⇒ an = 3(−1)n−1

4. An auditorium has 30 seats in the first row, 34 seats in the second
row, 38 seats in the third row, and so on. If there are fifty rows in the
auditorium , how many seats are there in the last row?

Ans. Here a1 = 30 and ,

an = 30 + 4(n− 1) = 4n + 26

⇒ a50 = 4(50) + 26 = 226 seats.
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